TEX R7IfERF

BB iR msas,

R}

RRBEDA (L) FRAF, ovotechnik

BAIT, wIKARZIEEL

T{EERT% 300mm, BHIFELR IP54

R
o HMERZE
o PitnaeR IP54

o Byt 5 ) g eh 85 ) S, "TPL £12.5° BRI

HHE®3)

o Mk, AHBAKMET, REElk1CkiEs)
o PERMET 0.01 mm

o ZRMEfRS, & £0.05%

o BLb Bz 1 AT 5 P 2R s il

o ATEH H RSB i B 5 K

o WHEBIP LR P67 &, S UL TX2 Bk

kAR R A B B8 LA T 5 A0 i R B R %
A &P Tl IR o

AR A R B R O, eI, gAY AR, AR
EASZEURT I, (%R bl R3St br Ao B f

e R By U AR EE R T PR A 1P SR AR 1) / Al L

HEeRBMEERSE, Wi/ AEEMHE. ©¥%F1. %
JEAT — il B AT e 22 L 5 2 DU TEX ™ b BTk

]

5 GRS R A

K3 ¥ ILP

EUA i ANEEHA (1.4306), AITER:, M5 SMREL

LTS W Bk

L BT SR

RS B4 I8 2 I

[IRRCE 3 M8x1 [l Bk )

3 PUR BEilcBSE, 3x0.14 mm?, & 2 KkF15 %

1

H3%:021-5419 1392 4fT1.:173 1638 6953

8.2 12,5

@18”

H7

16
10
w

W%k - www. tifu-auto.com 4 :info@imcortech.cn



ERBEEA (B8 ARAF [ ovotechnik

BESEX TEX TEX TEX TEX TEX TEX TEX TEX TEX TEX TEX
0010 0025 0050 0075 0100 0125 0150 0175 0200 0250 0300
BSSH B
TAeER 10 25 50 75 100 125 150 175 200 250 300 mm
AT 12 27 52 77 102 130 155 180 205 255 305 mm
o i BELAFL 1 1 2 3 4 5 6 7 8 10 12 kQ
PR 23 2% 20 +%
T 2k BE 0.25 0.2 0.1 0.1 0.1 0.05 0.05 0.05 0.05 0.05 0.05 +%
AlE Ak 0.01 mm
R A R O <1 A
O A R T PN 10 mA
RR AV TAERE 42 \
i LS 5 A TR A TR AR W5 ppm/K
#4500 VDC) >10 MQ
#%38 Ji (500 VAC, 50 Hz) <100 pA
WS
AAFERIE (S A) 63 78 103 128 153 194 219 244 269 319 369 +2mm
HAFREE (RS B) 14 29 54 79 104 132 157 182 207 257 307 +2mm
L MM B (RF O)
®E 15 (R~ D=18mm) 114.5 129.5 154.5 179.5 204.5 245.5 270.5 295.5 320.5 370.5 4205
S I B (RS C)
B 13 (P D =25mm) 1215 136.5 161.5 186.5 2115 252.5 2775 302.5 327.5 3775 4275
s
WA TEX-_ - _1_-002-202 111 116 126 136 146 186 196 206 216 236 256 g
W TEX- __ - _1_-002-101 79 84 94 104 114 154 164 174 184 204 224 g
TAEZ T
S | <3.0 (f£ RT = 20°CH}) N
IESH
T AR R -40 ... +85 °C
A G 0...95 (Jcik i) % R.H.
iR bR 5 ... 2000 Hz
A =0.75 mm
e =20 ]
Huohdibride 50 g
6 ms
Ffi i >100 x 10° ®
e Kig 7 10 m/s
55 472285 4% IP54 DIN EN 60529

H3%:021-5419 1392 4B8T1.:173 1638 6953  Muh:www.tifu-auto.com [{if5f:info@imcortech.cn



RREESA (B8 ARAF, ovotechnik

HHEOSH BB s
HS101 5 202, 205 EEM 33-64, / -66 / -68 / -65 / -67 / -69
A [ HC) 3]
JML 1 £ 4 =10 L)
Sl 252 i £ 3 2 3C) [ARE)
of A I‘-,E
g € 3a
3
EEM 33-64 EEM 33-65 L% ]
1T #4135 A
TNFESTF A E NG BEED
002: M1t
BSERE
101: 3 41 M8x1 Bk, #mil
202: NT bdfk 2 K HgE, il
205: NT hifk 5 K HLE, 1 i th
T E X 1 5 0 4 1 5 0 0 2 2 0 2
&7 HRE
3: S MR Bk I BRI 2 3
50 BRAREE I (BEIRL )
HUBESHAT 1
10 A RS BBR R AT M5 3k
FiiHELR
4: PAURHIFT, 1P54
IiEREERE
0010mm % 0300mm, Al ki I i
G SRR R A MAP ., EEE

PUR HL8E, 47 3 £ M8x1 M B $:k

3x0.34mm?, P67, AHibtiik

2 okHgE, WS, EEM33-64, FUE4S: 005617
5kHidi, M5, EEM33-66, Feih4is: 005619
10 KHL4E, B, EEM33-68, F“fi%is: 005643

PUR HL85, ¥ 3 4 M8x1 Mk

3x0.34mm?, P67, btk

2 okgE, WS, EEM33-65, FUi4S: 005618
5kHidi, M5, EEM33-67, Fi4is: 005620
10 k45, 5. EEM33-69, M™i4ms: 005644

A R FA HL ] R )

H3%:021-5419 1392 4FT1:173 1638 6953

f5 5 5 MUP .../ MUK ...
TAERE 24V, FRiffE 5% il

B 5 MUP__ _

Wk - www.tifu-auto.com  #f£f:info@imcortech.cn

TERR R PR i .
Ay, ke . Puab Tk
BELAE o0 T 3R L B 3R 405
Bl AR TAEELEE
TR B AE A v PR A Hh B Hh R
JEZ IR, ELI BB AT 3k
(le <1 pA) BIZA .

WA S, AT





